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Ml 226 A7|. GSZEHA vs ST MEH (M2, 2021.03.28, 16:00~17:28)

> 37|20

Bk NE 14 E 2HE 3ME 44 E 5ME EEH
GSZEH A 3 25 25 25 75
T4y 0 21 20 16 57

GSZEA ZA3 -5 185, 34 16°, =EZ 1T, ME1E
S34E 49 -5 1158 34108, 2EZ 1T, ME 0F
EEL -5 1153, 34 108, 222 1™, ME 0
» = HX
GSZEHA s34y
=2 191815 235) 29 21))
Mo A Z2FHM(E/M) 25 omy 05 21
AIESA dOEA 55 34 -
iS4 HOiEy 47% 56T -
F AIESA doEA 35 20 -
g AEAEAZS A HOiEE 55 14 -
S ANESY 135 4T -
g AUZEAEAEE 115 414 -
OffJI0] A|IE &4 - 95 91y
Of2J0] AL AEA|ZEEA - 115 1204
» 25 47| 7|5 Hn
GSZE A = s34y
s si j
598 SHB+E+A) 408
4871(44.04%) SAMEB(EBE) 327(31.68%)
574(1.677H) EE2ZEIHMER) 671(2.007H)
671(2.0071) MEHSMEY) 271(0.677H)
4671(15.337H) MEZSMED) 307H(10.007H)
2671(8.007H) 2 AE™ZMES) 227H(5.337H)
6871(22.6771) CO83MED) 5771(19.007H)
1774 Ha 1674
574 HA(20H0|F) 474
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Ml 226 A7|. GSZEHA vs ST MEH (M2, 2021.03.28, 16:00~17:28)

» S22 7|5 Hl
GSZEIA 'S S3MH
474 No Block 474
1370 /7 27H 1 Block 1270 7 07M
847l / 371 2 Block 937l / 67K
07 7 07H 3 Block 07 /7 07
*22Z Y AL "/ HE3 N
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
GSZH A T4 'S s=49 34
170 /7 07H(00.0%) No Block -
97 7 370(33.3%) 1 Block 97H 7 370(33.3%)
847H / 397H(46.4%) 2 Block 6571 / 257H(38.5%)
- 3 Block -

> MEHS 34 22k

> GSZEA

2021-03-28 17:36

E AE %53 AlZERE ol =42
MBS 16(30.2%) 22(41.5%) 4(07.5%) 2(03.8%) 0(00.0%) 9(17.0%)
MNEZ2| 18(43.9%) 17(41.5%) 3(07.3%) 3(07.3%) 0(00.0%) 0(00.0%)
oA 34(36.2%) 39(41.5%) 7(07.4%) 5(05.3%) 0(00.0%) 9(09.6%)

P BAMNE (BHEEYR)
> EIHE

E AE %53 AlZERE ol =42
MIET 2| 15(44.1%) 1(02.9%) 4(11.8%) 11(32.4%) 1(02.9%) 2(05.9%)
ME=< 24(60.0%) 4(10.0%) 6(15.0%) 3(07.5%) 1(02.5%) 2(05.0%)
oA 39(52.7%) 5(06.8%) 10(13.5%) 14(18.9%) 2(02.7%) 4(05.4%)
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M 226 B7]. GSEH A vs ST YUE (M2, 2021.03.28, 16:00~17:28)

Jn

g )

P u ZXME 3H S E (29 A1

> BRYY (BELY

> g &9
& HE He
o EL &8 =) B | #s | SME | MME | cug | SE | a4 sug o
1 GSZEIA 100.00 2 0 2 6 0 - 150 106 1415 25
2 =4y 0.00 0 2 2 0 6 0.000 106 150 0.707 20
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